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The grammar
the present tenses
acjlaoll glojl

present simple byl ¢ jlanll
The function : to talk about events that happen regularly
keywords : every-always-often-sometimes - never-seldom-once-twice

form : she -he -it = vs/es they we you =vi
negative : she-he-it =doesn't + vl they we you = don't +vi

present continuous poiwpll ¢ jla ol

the function : to talk about event that are happening at the moment of
speaking

keywords : now-at the moment -look!-listen!- watch out!

form : she -he -it =is + ving you we they are +ving

negative : she he it isn't +ving they we you aren't +ving

present pertfect

the function : to talk about achievements

keywords : since -for -already -recently -yet -never -many times -just
form : she he it +has+v3 they we you | +have +v3

negative : she he it +hasn't +v3 they we you +haven't +v3

the present perfect continuous

the funcnon to talk about an activity which com‘mues over a length of
time dligb diioj Ganl Ggasdl U_a}.uulg U.DLDJI 3 iy bliu J< ol
keywords : smce for -all -how long ?°¢pall J16 jgSy Galeg

has or have

form: she he it +has been +ving they we you +have +been +ving
negative : she he it +hasn't +been +ving they we you +have +been +ving




the past tenses
o loll JLojill

the past simple buuwul Ololl
the function: to talk abéut something that started and finished in the

past
form :s+v2 /| s+did not +vi
keywords : last-yesterday-ago-in past history S Gl il

the present continuous : poiwnll Ololl

the function : to talk about activities that continued for some time in the
past

form = s+was/were v ing Jwjai plii (sqal
keywords : as while when

the past perfect : plill _,Ololl

the function : to talk about events in the past which happened before
other past events

form s+had +v3 . Uluwwgoll (SuS
key words : before after by+auolo Gjlul (Sl

the past perfect continuous : joiwnll plill Ololl

the functi on : The past perfect continuous corresponds to the present perfect
continuous, but with reference to a time earlier than 'before now'. As with the present
perfect continuous, we are more interested in the process.

form = s+had +been +ving

key words : when for because looked seemed by the time before gl p0Jl Juo Galcg
had
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.':ive vVerbs

A9l aacld Laid ulisll Jlinc Las bl Sy Lawd (Ssl ulsdl dulill Gacldlle 4l
asisdl jad e labuygl Sy Ll g Sl ... Jgul agoi lalgnlg dhghg Cidg

wlisJl Jlio
| asked someone to fix my car
| had my car fixed
J923Jl cuwss have jgo (o Gjgrg ask Jiowiwl-1

ask asked will ask

has/have had will have

QliSH dlos 0 pwl ST .. ay Jgoaoll Jiji-2
to 29y agsg.0ll Joall CUlill bynill 95g-3

Speculation
I'm sure it's raining outside .
It must be raining outside.
perhaps Sami's phone is broken .
Sami's phone could be broken .

Sla Jidall ag=9 Jgul Juud pus 4 Lo asolg @dloisl los

must | sure-know-certain

could unsure -think-uncertain-perhaps

aludllg Jadl waasl ugl
dlladl o agle Ciaiwl SAN Jyagall Jji Ll
islare = be was /were=have been aay3=ig Joall Jug=i



o bhlnciaitiomn

Obligations
It's necessary to have to
It isn't necessary to don't have to
you are allowed to can
you aren't allowed to mustn't
should If | were you, | would
If clause

If + S + simple present ..., S + simple present = type zero
If + S + simple present ..., S + will + base = type one
If + S + simple past ..., S + would + base = type two




2EPORTED
SPEECH

The reported speech

e JS) Galoll cluodl JIso 6 Lo Jle guwy jSlpoll ddle @dlpisl Lalis pb Lisl
pLA (594l agnoll g dololla 35 clylsl glsiodl ade ¢loo (SSl Sy
ML 2T

I= he or she/ we they /me him or her/ us them /my his, her [ our their

am\ is Was/ are were/ was\ were had been/ play Played/ Played had
plaved [will Would

can could |has\ have had/ don’t \ doesn’t
didn’t | didn’t - base hadn’t + p.p

Adverbs =yesterday the day before | tomorrow the day after [next week
the week after/ last week the week before/ now Then [tonight that night/
at the moment at that moment

1." 1 don’t make mistakes in the exams" .
2o R g Lo Yo e B d 4 Lo & R
2.We didn’t fly to Aqaba last night .

The students SAid tNAT ........eeeeeeeeeeeeeeeeeeereereveennn
3." My uncle saw a terrible accident yesterday ".
Ahmed SAid tNAT .....eeeeeeeeeeeeeeeeeeeeeeseereeeeeeaeens
4 ." It was raining heavily this time yesterday " .
He SAiId TNAT aaueeeeeeeeeeeeeeeeeeeecveeeeeeeeeveeeeeannes




Used to
}flg:ul aopilc

BE USED TO

USED TO

IS ARE AM +USED TO +N/P/V

S+USED TO+V1

WAS WERE +USED TO +V/N/P

S+DIDN'T +USE TO +V1

She was used to English
1- speaking 2- speak 3- spoke

aroiwp dlla Ulols @lisil acl dlos Js < Lol
normal customary accustomed usual familiar habitual
lts
6 1o 5 o]
she he it +is+used to +ving
they we you +are +used +to +ving

JJLg it was

itwas + @poiwo 4olSs
she he |l it +was+used to +ving
they we you +were +used to +ving

Its normal for Ali to speak English.
Ali is used to speaking .
dohdioll dacldll jc Loi

used to
(past habit, when ,former, but now )

1-1ts + doldip dol
S+used to + vi

2-itisn't + a9hdio anls
S+ didn't + use to + vi



cleft sentences

G2J2C wuSIyg Laad pasSiu .. a.LD:sJId.Ds}: U_l_CjJS}.LU Laroassiud adjsdl Josll
it u djljgll laui i gd Lalgl

Ali spoke English yesterday
It

was i L ololl wuSIg go gojll gIs 19] -1
is Qi lo)liap WSy YIS 1]
Jeldll g95y Sjljgll il cuusg WIS gag aQulc juS il alpoll Jljil-2
that Jogll élal g_og -3
aue pSpll pi Lo 1a¢ s JS JIHL -4

was Ali that spoke ENGLISH YESTERDAY
AL g=ill Lo Ad 125 Gofoll Gilill Gopnll Lo

Gl JSs Lle als aypig Jolw Jlio 1a4
Jack played football in the garden yesterday to be better

THE PERSON WHO played football in the garden
vesterday to better was jack

THE TIME WHEN jack played football in the garden
to be better was yesterday

THE PLACE WHERE jack played football to be better
vesterday was the garden

THE THING WHICH which jack played yesterday to be
better was football

THE REASON WHY jack played football yesterday in
the garden was to be better




{Mon—-definite clause)
Alan all Bile L poen gl il S s plaall Cpa 2sGall Liadews
2ol T e ol el gl e Baam all gt Jeus gl
Chaldren, who like sweets so much, ofien have
problems wiath thewr teeth.
S agoal agmian g vcily el O sany SR moam 1 eS Aleadl 6da
Crpeang JUili) (all) poas deal Jy Sl gl dda o s agalioud A

iy gl
Who (Ol AN 5 A1) = aliulil foe Janded g
= I know the man whoe bought yvowr car.
Al o AN 5 3N (b ol b e
* The plavers who have joamed the team latelyv are good.
e B BT patall Jplh el By e S
Which (... Cedl a0 s =0l i gl [ $Lali fa Juated y
= Majeda read the book which I gave to her.
Al Lghalaei o 30 (Ble S aife em) ASEN Baade o 8
= Huda hiked the ears which she saw westerday.
W hose (Al g2y
iles e 45 gl e poen 3 pail Sl s gl O A leaie JaasS g
e
The woman, whose bag was stolen, 15 a doctor.
Al ol e (ASIaD g2 LgSplia LA (Bl
I met the doctor whose son is my friend.
ool [Ap Al ady A% 2 A1) anadadl culd
Where | =)= 050 pa faaid y
= There 15 a big market where vou can buy anything youw
Wt
R et sl 5 RS O akied Ceea S (5] (5 pee S
thats (oAl s all e bal af el A Jaadead 3
* The man that is standing there is my father.
= The jacket that | bought yvesterday 15 expensive.
) R ALy Al 3 (JBe uE glEed) SaSladl

e L Py
I The Egvptians built the pyramaeds.
Itwas the ...
2 London is a huge city. It's the capital of the LTK.
Londom, ...ccecessnsssssnsssssssssnssssnsnnns
3 The bov broke the window. He ran away.
The oy, o ciiiisinannnanananas

The Future Continuous joiwp Jraiun
S+ will + be +v(ing)

Who will+be + v(ing).....?

Will + s + be +v(ing)...? -

h.a.s d&o®il Jdi

This time next year, they will be preparing for their final exams.

- What will we be doing in ten years’ time?

- 1 will be having a bath when you call me tomorrow.

- 1 will not (won’t) be having a bath when you call me tomorrow. The Future

Perfect pli Judiwo

will have +v3



Wh + will +s +have+ v3....?

Will + s + have + v3.....?

- By 2019 CE, the new motorway will have opened.

- we’re late! By the time we get to the station, the train will have gone.

1. This time tomorrow, we’ll be celebrating because we ............ our exams.
(finish)

2. This time next month, my parents ............ married for twenty years. (be)
3. The books that you ordered ........... by the end of the week (not arrive)

4. By the next year....... vou ........... England? (visit)

1. will have finished 2. will have been v3. will not have arrived 4. Will, have
visited

Past Perfect Continuous Gaclall yoiwoll plill Ololl :
S+ Had been +v(ing)

| PO for five hours by 5am this morning. (sleep)

2. By the time | was ten, I ............ the piano for four years. (play)

3. By the time my friend. ............. me, | had been studying for three hours.
(phone)

-By the time ...... V2 ... , ....had + v3.......

-By the time ...... V2 ... , ....had + been +v(ing)....... [for

-By the time ...... vl ......... , «..Will + have + v3 .......

Gerund and infinitive

Want/ wanted Afford Plan ..............ueeeeueene.. to+vi
Hope Intend 125 plf
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texts ypogr il

THE HISTORY OF COMPUTERS
1. Who developed the world wide web? aSuir Jgi jgb o
2. There are two machines can do the same work as mobile
phones . Write them down. (uiii 1S3l ggalill Joc (Squuiy Sl
3. There are two invention were completed in 1940s. write down
these two inventions. (o wiq wall fy)ly aloiSoll ylelisl
JQyjlg
4. Write down the sentence which indicates that the size of the
first generation of the modern computers was so large. (uuidl
A3 piqunS Jgl o3 ail quj.muval alo=Ji
5. Quote the sentence which indicates that the first computer
program was very slow
Aoy olip Jgi ail I i il QLo Quyddl
6. What does the underlined phrasal verb “rely on” mean ?
7. Find a compound noun in the third paragraph which means
‘a flexible, removable magnetic disk that stores computer
information’
8. What do the underlined words (pronouns) refer to?
dlols plo
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9. The writer states that the World Wide Web was developed in
1990. Explain this statement
mentioning three benefits of using it.
Cygiad duwd! ail LSS wdlSdl 1990 49 Cupdidl 6Sul Leadlga dld
Ju
10. We rely more and more on computer technology. Think of
this statement and ,in two sentences , write down your point of
view.
1. The British scientist Tim Berners Lee.
2. Watches and glasses.
3. the first generation of modern computers and the first
computer program.
4. One such model was so large it needed a room that was 167
square metres to putitin.
5. It took 25 minutes to complete one calculation.
6. to have trust or confidence in something or someone
7. floppy disk
8.it:a computer/ their : most people | which : watches
Critical thinking :
1. People use mobile phones every day for many purposes such
as calling, internet taking photos,
watching films and listening to music.
2.1 think that we rely more on computer technology . For
example, computers have enabled us to
do many great things, but becoming overly reliant on
technology is not a positive aspect of this development

12



Using technology in class
1. There are many purposes for using the Internet in the
classroom by teachers. Write down two of these purposes. U@
liwdl vandl g Sl [2Sdwl (o (Jaad
2. Write down the sentence which indicates that it is necessary
for the teacher to be a part of the group of learning. (uuidl
ploiill blegso o =i plooll j9Ssy §jg}b ail Al puid UxJI alosJi
3. There are two benefits of exchanging emails in education.
Write down these two benefits. @ qu Jiiojil Jald 2ilga
/. Students can communicate with other schools by many ways.
Mention two of them
wujlanll 9o Jolu l@lis jo Jianb dale gy Iglolgiy il
5. Find a word in the fourth paragraph which means ‘ a
regularly updated personal website or web page usually written
in an informal style’
6. What does the underlined phrase’ social media ‘ mean?
7. What do the underlined pronouns refer to?
8. Quote the sentence which shows the various benefits of
using tablets.
S LA GiS aflga (6 ail g Ul ALasIl guuidl
9. The writer states that digital information can be used to
educate people .Explain this statement , suggesting three ways
in which people can benefit from this kind of technology.
10.Voung people love learning. Think of this statement and , in
two sentences , write down your point of view.

13



Answers
1. to show educational programmes - to play educational
games
2. The teacher must be part of the group, too, to monitor what is
happening.
3. Students can then share information and help each other
with tasks.
4. They can exchange emails and talk to people over the
computer using cameras.
5. blog
6. social interaction between people and communities on
websites or blogs.
7. they : young people | their : teachers [ who : students [ them :
computers.

8. Therefore, students can use the tablets to do tasks such as
showing photographs, researching information, recording
interviews and creating diagrams.

9. Digital information can be used to educate people in a
variety of ways. For example, you can listen to podcasts and
lectures online, or use apps on a tablet to learn languages. You
can also use the Internet to find information on what you are
studying.

10. | think that young people love learning.

For example , large proportion of young people are students so
we should encourage them to keep going by introducing
advance technology in our schools and get rid of old methods .

14
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The Internet of Things
1. Quote the sentence which indicates that computers will run
our lives?
Wil oy 7y wowisdl ail JiTnyg Al alo=Jl (uuidl
2. According to the text, your future fridge can do two things.
Write them down.
dulle LSl gud as LUl (Sguuly (i
3. Watches in the future can help people in two ways. write
down these two ways.
Qulill acluld ) LarS .LLLCLLm_DLSQ.m.IUg.UJO_CLmJI
4. Write down the sentences which indicates that a lot of
people are satisfied with the “ internet of things”
sluw ! Sl g guoly guli is ail (A puid’ Al dlosdl guuddl
5. Ccriminals can commit two crimes by using the “internet of
things. Write them down.
sluwdl Cu il plasiwl (uopsoll pauSiy tl) Al gliogy=ii QU
6. What do the underlined words ( pronouns) refer to ?

7. Find a phrase in the last paragraph which means ‘controls
available on computer programs which let you protect your
computer from viruses’

8. Read the quotation. Do you agree with it? Why | Why not?
“Technology is just a tool. In terms of
getting the kids working together and motivating them, the
teacher is the most important.” Bill Gates (1955 CE)



9. The writer states that it is recommended to use technology
wisely. Explain this statement, suggesting three ways in which
we can use it perfectly.
10.Technology is a way to keep our bodies fit. Think of this
statement and , in two sentences , write down your point of
view.

Answers 1. As a consequence, computers will increasingly run
our lives for us.

2. Your fridge will know when you need more milk and add it to
your online shopping list.

3. YVour watch will record your heart rate and email your doctor.
4. Many people are excited about the ‘Internet of Things’.

5. Criminals managed to access their passwords and security
settings.

6. it: the Internet [ them : many people | their : others ‘ other
people ¢
7. security settings
8. 1 agree with this quotation because Bill Gates refers to
technology as a ‘tool’ in this quotation because he is
emphasising that it is a useful and effective way of involving
children. However, in terms of actually making sure children
learn, or of ensuring children’s social development, teachers
cannot be replaced. They are the most important contributors
to a person’s education, but of course they can use technology
to help!
9.We can use technology wisely in different ways . For example,
we can depend more on our mental skills and raise awareness
among people about how to use technology. Also, we can
enhance the activities which depend on human not technology .
10.1 think that technology is a way to keep our bodies fit. For
example , smartphone apps can be used to monitor how much
exercise we need to do and how many calories we burn . Also,
interactive video games can be used to help us to keep fit. They
are used indoors and provide a healthy, active alternative to
watching television.

16



complementary medicine: is it really a solution?
1.There are many forms of complementary medicine. Write
down two of them.
U.LuJ_'%.tJI ol glgil Il
2.Write down the sentence which indicates that many doctors
study complementary forms of treatment.

U.Lx.n_'%.tjl wbdl Iquyay subl dS ail (I L,Jl alo=Jl uidl
3.Non-conventional medicine cannot work as a replacement
for some treatments. Write down two of them.
@@Q:JLQM@MG.U! CLI_QJIL]JDLJJJUIL}SDJ.UL,ILDSJJI gl
G (Sj asadl wagrall
4.Doctors always turn to conventional treatment first. Why do
they do that?

i dgl Saddill bl asgi 7y vl
5. Quote the sentence which indicates that people didn’t use to
study complementary medicine formally.

Sl wdbadl dwlja Igaliog pl gwlid! ail (Al o il @il guuddl

= Low) =
6. Find a word in the text which means “illness”.
7. What does the underlined word in the second paragraph
“arthritis” mean?
8. What do the underlined words ( pronouns ) refer to ?

9. Some people believe that homoeopathy is not a valid
alternative to conventional Medicine and it can’t be effective .
Explain this statement , suggesting three bad effects for this
kind of treatment.

10. Complementary medicine can’t replace modern medicine.
Think of this statement, and in two sentences, write down your
point of view.

Answers
1. homoeopathy, acupuncture
2. These days, many family doctors study complementary
medicine alongside conventional treatments, and many

17



complementary medicine consultants also have medical
degrees.
3.1t can never substitute for immunisations as it will not
produce the antibodies needed to protect against childhood
diseases. It also cannot be used to protect against malaria.
4. to ensure that no underlying condition is missed.

5. If patients wanted to receive this kind of nonconventional
treatment, they used to have to consult a private practitioner
who was likely not to have a medical degree.
6.ailment
7. Adisease causing painful inflammation and stiffness of the
joints.

8. they : patients [ who : 70 percent of patients [ it :
homoeopathy
9.There are many bad effects for this kind of treatment such as
wasting time and money .

Also , some kinds of homoeopathy have dangerous effects on
patients . Another thing is that practitioners don’t have medical
degrees.

10.1 think that complementary medicine can’t replace modern
medicine. For example , it cannot be used for all medical
treatments and can never substitute for immunisations as it
will not produce the antibodies needed to protect against
childhood diseases.

Also, it cannot be used to protect against malaria.

N i i
i3
L V¥

108
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Are happier people healthier - and, if so, why?
1. We can improve our children’s overall in the future in two
ways . Write them down.
pADLIOI pjll quiul and quu iy Wabl alls Jusi JS.00
2.There are some possible effects of anger on someone’s health.
Write down two of these effects.
dsdle w9l Ll g
3. Write down the sentence which indicates that scientists
didn’t do any research to find any relation between feelings
and health in the past.
aGuoll al=yu Ciy 57:LD.L0JI s ol ail A puid’ Gl @dlosdl guuddl
Jloj dsnllg aausdl pelidoll gy
4. Some scientists believe that bad lifestyle choices affect
health negatively. Write down two of these choices.
1S3l lw asndl U.Lcjjg.z duwd! ol bloil ail d.og.z slololl (A 0)
bloidl sle Ll
5. Replace the underlined phrase with a suitable phrasal verb
that has a similar meaning to it.
6. Find a word in the text which means “believing that good
things will happen in the future”
7 . What do the underlined words ( pronouns ) refer to ?
8. Write three things ,mentioned in the article , that improve
health .

9. The writer thinks that happiness affects health . Explain this
statement , suggesting three benefits of happiness on health.
10. “He who has health has hope; and he who has hope, has
everything” ,by Thomas Carlyle. Think of this statement, and in
two sentences, write down your point of view.
Answers
1. teach children to develop positive thinking, and to ‘bounce
back’ after a setback,

2. your blood pressure is raised and you can suffer from
headaches, sleep problems and digestive problems.

3. Until recently, scientists had not investigated whether there
is a link between positive feelings and good health.

19



4. smoking or lack of exercise 5. bounce back. 6. optimistic
7. who : the children | it : to live without worry [ they : The
researchers.
8. positivity, a supportive network of family and friends and an
optimistic outlook on life.
9.There are many benefits of happiness on health like having a
better perspective on life Also, choosing to eat well and
exercise more often.

10. | think that’s right because it is possible to feel optimistic
about the future when one is healthy. Hope for the future and a
positive attitude are seen as, overall, the most important
things in life

Get Moving!

1. An increasing number of young people and adults are
overweight or obese because of many factors. Write down two
of them.
¢ diloud! uluwl
2.There are two types of the exercise. Write them down.

¢ Al clgil
3. Write down the sentence which indicates that physical
exercise help in treating stress.
honll oy aolul ail (Al juid L,_UI Alo=Jl gl
4. What does the underlined word “obese” in the first
paragraph, mean?
5. What do the underlined words “pronoun” refer to?
6. Quote the sentence which indicates that you can buy things
while lying on the couch?

Jladb acla diilg §}uw o al Al Ssi Ul ol guydal
7. What do girls usually refuse and what does that lead to?

20



¢ 1a@ S2G) T Grug Ll yAGy gu
8. Replace the underlined phrase deal successfully with with
suitable phrasal verb that has a similar meaning to it .

9. The writer states that an increasing number of young people
and adults are overweight or even obese. Explain this
statement , suggesting three ways to overcome this problem. 10.
Fitness leads
to health. Think of this statement and , in two sentences , write
down your point of view.

Answers
1. the growing popularity of fast food, which didn’t use to be as
common as it is now. Another big factor is lack of exercise. 2.
Fast walking, and more strenuous exercise, like running. 3. In
addition, exercise is a great way to cope with stress. 4.
extremely fat, in a way that is dangerous to your health. 5.
which : fast food | they : school children | They : Experts. 6.
Before the Internet was invented, nobody had dreamt of online
shopping, but now we can buy almost anything without leaving
the sofa. 7. Girls in particular often dislike PE. This can lead to
serious health problems. 8. cope with 9. There are many ways to
overcome this problem such as doing more exercise and
avoiding fast food. Also, regulate the time of the meals. 10. |
think that fitness leads to health . For example , if we do regular
exercise and take care of our food , we can avoid the
overweight which can lead to serious health problems . Also, it
is very important to have enough hours of sleep every day to be
able to do our daily tasks effectively

Health in Jordan: A report
1. There are many factors that made Jordanians healthier. Write
down two of them.
¢ dspo Sl guiayl Josi Jolge
2. Write down the sentence which indicates that most of
Jordanian villages were supplied with electricity and water.

slolly Gulil (s Gl ugji pi ail (Il juid Al dlosdl guyidl

21



3. There are two factors have been contributing to Jordan’s
healthy population growth. Write them down.
goiy JSwdl ala0j Josy dundlw Jolge
4. What kind of medical operation has Jordan made the most
success?
JaUl 6 asslll Guooll puawl guir
5. What was the life expectancy in Jordan in 1965 and 2012?
GuLia)IS yiyoi lipp yiyadg pinoi lis ps
6. Quote the sentence which indicates that Jordanian doctors
have been well-known in the region .
G900 bl Guinjul ail (Il puud Al dlosdl guaidl
7. Find a word in the report which means “ decreased in
quantity or importance”

8. What do the underlined words ( pronouns) refer to ?
9.The writer states that children in Jordan are vaccinated
against many illnesses. Explain this statement , mentioning
three kinds of these illnesses.

10. Health conditions in Jordan are among the best in the
Middle East. Explain this statement and , in two sentences ,
write down your point of view.

Answers
1. Advances in education, economic conditions 2. Although there
were remote areas of the country where people had been
without consistent access to electricity and safe water, almost
99 per cent of the country’s population now has access. 3. The
low infant mortality rate, as well as the excellent healthcare
system. 4. open heart surgery 5. In 1965 CE, the average
Jordanian’s life expectancy was age 50. ln 2012 CE, this average
life expectancy had risen to 73.5. 6. The reputation of Jordanian
doctors has spread in the region, and now many more patients
come to Jordan for open heart surgery. 7. decline. 8. where :
remote areas of the country/ its : the country. 9. There are many
kinds of these illnesses like tetanus , polio and measles. Also ,
they are vaccinated against smallpox. 10. | think that Health
conditions in Jordan are among the best in the Middle East.
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This because the country’s commitment to make healthcare for
all a top priority. The number of healthcare services has been
increasing rapidly over the past years and 98 percent of
Jordanian children were fully immunized. Life expectancy had
risen to 73.5 and infant mortality rates have fallen down

gloc a6 guyai plAi Sqdl Sqldl guil Sliwl
- S

In the future
1.Scientists have developed brain implants for two purposes.
Write them down.

and quu Jlaafl gLD:)JI aclyjlgygb <lololl
2. Write down the sentence which indicates that experts are
carrying out tests on a new cancer drug that may saves lives of
patients.
clle e wylsi g9y 1gilS bl I puind il Aol guyddl
adl gl i
3. Usual cancer treatment has had some side effects . Write
down two of them.
9&..7@ Lo 5ml.cull Jbjuldl T ic Llcl
4. There are three reasons mentioned in the text that damage
brain. Write them down .
B Lo ngJI 539.: wluwl UL
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5. Find a word in the text which means “a medicine or a
substance used for making medicines”

6. What does the underlined word “ pill “ in the last paragraph
mean ? 7. Why do neuroscientists use a special brain scanner
called “ MRI” 8. What do the underlined words “ pronouns “
refer to ?
9.The writer states that there will be many implications for the
world if people live longer due to improving life expectancy.
Explain this statement , mentioning three bad consequences for
the increasing number of population.
10.Patients who suffer from cancer will agree to undergo new
types of treatment . Think of this statement and , in two
sentences, write down your point of view.

Answers
1. To improve vision or allow disabled people to use their
thoughts in order to control prosthetic limbs like arms, legs or
hands, or operate a wheelchair. 2. A new cancer drug is being
trialed in Plymouth, UK, which doctors hope will extend the
lives of cancer patients and reduce their symptoms overnight.
3. sickness and hair loss. 4. dementia, a stroke or other brain
injuries. 5. drug. 6. a small round piece of medicine to be
swallowed whole. 7. to communicate with some patients in a
coma 8. that : brain implants/ their : disabled people | they :
neuroscientists/ which : New cancer drug. 9. There are many
bad consequences for the increasing number of population like
increasing demand on food , water and natural resources. Also,
greater pressure on education and health care. 10. | think that
patients who suffer from cancer will agree to undergo new
types of treatment because they have suffered from the side
effects of old kinds of treatment such as sickness and hair loss.
Also, they believe that new types of treatment may help them .
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The King Hussein Cancer Center
1. Patients from other countries visit the KHCC for many reasons.
Write down two of them. clloall (Guidwol Jgili ol go ool
15lo] sl
2. Write down the sentence which indicates that The KHCC treats
people from all ages.
Jb ) Guausdl elloll - Guiniwd ail 1 i’ Al @il guudl
Jlecdl s wlloy )

3. How many cancer cases is the hospital expected to treat after
completion of its expansion? Laxilog Ji Qdginll LIl 2aC pS
alois! Jis aaunll
4. What is the main difficulty do cancer patients who live
outside Amman face?

S Yl pull (O30 LaasIg il Guwipl &igandl . Lo
5.Read the quotation. “Wherever the art of Medicine is loved,
there is also a love of Humanity. Hippocrates (460 BCE-370 BCE)
Do you agree with it? Why/Why not?

6. Write down the sentence which indicates that Jordan has one
cancer centre.

7. What do the underlined words ( pronouns ) refer to ?

8. What does the underlined word expansion in the second
paragraph mean?
9.The writer states that Jordan has a great reputation in the
area of medicine. Explain this statement , mentioning three
reasons why health conditions in Jordan are advanced .

10. The King Hussein Cancer Center is an important facility that
contributes to medical tourism . Think of this statement and , in
two sentences, write down your point of view.
answer
1. Patients are attracted by its its excellent reputation, lower
costs. 2. It treats both adult and paediatric patients. 3.9,000
cases per a year. 4. the journey to and from the hospital is
often difficult . 5.Yes, | agree with this quotation because
doctors depend on love to strengthen their relationships with
their patients and that is so helpful in curing diseases. 6.The
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King Hussein Cancer Center (KHCC) is Jordan’s only
comprehensive cancer treatment centre. 7. it :The King Hussein
cancer Center | where : Amman [ which : educational centre. 8.
the act of making something bigger 9. There are many reasons

why health conditions in Jordan are advanced like the
commitment of the country to make health care a top priority
and advances in many areas like education , technology . Also,
Jordanian doctors are among the best in the Arab world. 10. |
think that The King Hussein Cancer Center is an important
facility that contributes to medical tourism because of its
highly reputation and reasonable cost . These qualities
encourage patients from other countries to come and stay in
Jordan for treatment.

Accident victim tests first artificial limb
1. Dennis Sorensen could do two things by using the new
prosthetic hand. Write them down. Joaj gl Juuiyjguw Quhiuy
Lo Lo aajax]l aay Jliuy
2.Quote the sentence which indicates the nationalities of the
two scientists who developed the new prosthetic hand. (uddl
slololl Guuis (Al Al alossJi
3. How does the newly —invented prosthetic hand differ from old
ones? GajasJl Jcdnjadll adl alissi S
4. Write down the sentence which indicates that in the near
future, there is a plan to replace old prosthetic limbs with new

developed ones. aid pghi piuwy ail (Al i Ul Alosdl guuddl

Lypa syl
5. Why had Sorensen been using artificial limb? uUpl i3lol

arclin 2y Juuidjguw pa=iuy
6. Find a word in the first paragraph that means an artificial
body part.
7. Why can’t Sorensen wear his new hand now ? Qg 4 13Ln]
Jal Laladjl
8. What do the underlined words ( pronouns) refer to ?
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9.The writer thinks that scientists have developed many new
important medical inventions. Explain this statement,
mentioning three new inventions that have influenced the
patient's’ life .

10. The new inventions can improve someone’s life . Think of
this statement and , in two sentences, write down your point of
view.

Answer
1. Sorensen could pick up and manipulate objects, he could
also feel them.

2. The new hand, which was developed by Swiss and Italian
scientists, was a huge improvement.
3.1t is with a sense of touch.

4. It is possible that, in the not-too-distant future, similar
artificial arms and legs will have taken the place of today’s
prosthetic limbs.

5. He lost his left hand in an accident.

6. an artificial body part
The importance of Islamic achievements in history
1. There were many achievements that Jabir ibn Hayyvan made.
Write down two of them.

B Lo gles (ul plsd Gljlsil elli
2. Al-Kindi made his fame by working in two main fields . Write
them down. Log@ Lo JUdS pc aijfui Qi SaiSJI
3. why was Ali bin nafi’ called the “Black bird” ? 8_(7Li Ml wal pl
CILH
4 Write down the sentence which indicates that Fatima’s
learning centre is very successful. ail (JI juid il dlosdl Guuidl
ploj jSyo Jradl visliol Gobld
5. Fatima built a learning centre in Fez. How did she manage to
do that? pcall culs Jl J0g LS edoil T adl adf J aobla
6. What does the underlined word “mathematician” in the last
paragraph, mean?
7. Find a word in the text which means “someone who has a lot
of knowledge about many different subjects”
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8. What do the underlined words ( pronouns) refer to?

9. The writer states that Muslim scientists made many great
achievements . Explain this statement , mentioning three fields
that Muslim scientists influenced greatly in them.

10. In ancient times, reaching such high levels of achievements
in comparison with the present days is more difficult. Think of
this statement, and in two sentences, write down your point of
view.

1. He is most well known for the beginning of the production of
sulphuric acid. He also built a set of scales which changed the
way in which chemists weighed items in a laboratory .

2. arithmetic and geometry.

3. Because of his beautiful voice.

4. This learning centre became Morocco’s top university, and it
is where many students from all over the world come to study.
5. She used her father’s inheritance to build a learning centre in
Fez, Morocco.

6. a person who studies Mathematics to a very complex level.
7. polymath
8. there : Cordoba [which : the building of the Andalus
Mosquelhis : Al-Kindi Critical Thinking :

1. There are many fields that Muslim scientists influenced
greatly in them like medicine and geography . Also, they had
influence on the area of farming.

2.1 think that in ancient times, reaching such high levels of
achievements in comparison with the present days is more
difficult because there was great difficulty to access
information. Also, if someone wanted to innovate something he
had to make hard efforts to achieve his ambition .
Masdar City — a positive step?

1. Megaprojects are designed for two certain purposes. Write
down these two purposes. Lo Lo Jlaaafl aijapll ads Jooo
2.Write down the sentence which indicates that not all
Megaprojects are similar.

dcgio yLitoll 0@ ail I puind il Lol GLoSIl uyidl
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3.There are many types of megaprojects. Write down two of
them. clUli@ dduooll gLl ¢lgil Cie
4. Because Masdar city will be a car-free city, the city has been
designed to have different types of transportation. Write down
two of them. LAiUoIgo Jlh
5. Masdar city has a unique quality that makes it the first city
of its kind. Write down that quality. aijooll aaf Gjio pioj 13lo]
6. Who are the current residents of Masdar city?
LAilSuw (0
7. Find a word in the text which means “ judged (something)
with disapproval; evaluated or analysed”.
8. What do the underlined words ( pronouns) refer to?
9. The writer thinks that mega projects should have many
purposes in order to be attractive and popular. Explain this
statement, suggesting three purposes of such projects.

10. Masdar city is a beneficial project for the community and
environment. Think of this statement, and in two sentences,
write down your point of view.

Answers
Answers 1. to encourage economic growth and bring new
benefits to cities. 2. Although mega projects vary in terms of
Size and cost, they are all, by definition, expensive, public
projects that attract a high level of interest and media
coverage. 3. motorways, airports 4. Electric, driverless cars and
cycling 5. Masdar City, which began its development in 2006 CE,
will be the world’s first carbon neutral, zero-waste
artificially-created city. 6. students at the Masdar Institute of
Science and Technology. 7. criticised 8. they : megaprojects
/whose : a university [ It : the city (Masdar City) Critical Thinking
: 1. There are many purposes of such projects. For example, they
can be popular attraction and combines educational value
with scientific interest. Also, they can be centres for research
and experiments. 2. | think that Masdar city is a beneficial
project for the community and environment. For example, it will
depend on renewable resources and will reduce carbon
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footprint . Eventually , this will save natural resources and keep
the environment zero-waste
A founding father of farming
1. Ibn Bassal was specialized in two fields . Write them down ?
Joy il sl py
2. Where can Ibn Bassal achievements be seen today?
ailjiil SH gl
3. Ibn Bassal used many ways to irrigate the land. Write down
two of them.
Pl Sg) LS
4. Write down the sentence which indicates that lbn Bassal was
a polvmathn.
apic ail (i il dlosil guuddl
5. Quote the sentence which shows the most important part of
Ibn Bassam's book.
QS Jo == pdl guial
6. What does the underlined phrase hands on mean?
7. What do the underlined words ( pronouns) refer to?
8. Ibn Bassal explained how to grow many types of trees and
plants. Write down two of them.

9. The writer states that when farmers followed Ibn Bassal’s
instructions and advice the land produced enough food for the
fast-growing population. Explain this sentence, suggesting
three ways in which farmers can increase the productivity of
the land in Jordan.

10. The area around Toledo had a fast-growing population .
Think of this statement and, in two sentences, write down your
point of view.

1. botany and agriculture.
2.1n Spain.

3. finding underground water and digging wells
4. Ilbn Bassal was a writer, a scientist and an engineer who
lived in Al-Andalus in the eleventh
century CE.

30



5. Perhaps the most famous chapter of all was the one that
described how to treat different types of soil.
6. field working | working by hand.
7. who: Al-Ma’mun | which : sixteen chapters/ that : The
irrigation systems
8. herbs and sweet-smelling flowers.
Critical Thinking :

1. There are many three ways in which farmers can increase the
productivity of the land in Jordan like providing advance
irrigation systems and using modern methods of farming. Also,
they can avoid over cultivation in order not to exhaust the soil.
2.1 think that The area around Toledo had a fast-growing
population because it was very
prosperous place producing a lot of food as a result of Ibn
Bassal’s irrigation systems.

As a result, people could be healthier and more able to provide
healthy atmosphere to their children.

dyjljgll Cilslanoll

BUILDING A BETTER

VOCABULARY
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1. rely on :to have trust or confidence in something or someone
2. bounce back: to start to be successful again after
a difficult time
3. cope with : to deal successfully with, or handlie,
a situation
4. focus on : to direct your attention or effort at something
specific
5. Communicate with :speak to

7. Take place: happen | occur
8. Wake up: cause to become awake
9. Settle down: live orderly life
10. Meet up: to get together with somebody
11.11. Look around: to look in several direction
12. Get started: begin doing something i
Jlglil dlslihno 12 pAD
1. feel blue: feel sad
2.see red: get angry
3. the green light: permission
4. red-handed: in the act of doing something wrong |/
5. out of the blue: unexpectedly
6. a white elephant: a useless possession

slhbnll Gu uLag}_aJl 4gyoo SjgO

1. share ideas : . give ideas to others
compare ideas : show differences
2. create a website : construct a new website contribute to a
website : offer things to a website
3. research information : find information needed present
information : give info in a presentation
4. monitor what is happening : watch closely what is happening
find out what is happening : .discover what is happening
5. to give a talk to people:give a speech to people
talk to people :discuss things with people -
6. show photo :display photos
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send photos :post photos

1- Replace the underlined words with a suitable idiom from the
box.
J0 cuwlio o Jlooiwl RS LA L,xJI GlolSJl Jogdwl
99l
feel bluel see red the green light [red-handed [out of the blue /a
white elephant
1. The child felt sad when he learned his parents had canceled
the holiday to Egypt.
2. The man was caught inside the jewellery shop in the act of
doing something wrong.
3. The new dam cost a lot of money, but it will become a useless
possession because of its location.
4. You can’t start construction until you get a permission from
the municipality.
5. When anybody search my smartphone, | get angr\.
6. Then unexpectedly, a lion appeared coming out of the
bushes.

arsagoll Ghlsul
felt blue 2. red-handed 3. a white elephant 4. the green light 5. .1
see red 6. out of the blue

2-Complete the following sentences by using the most suitable
word from the boX. There is one more word that you don’t need.
web hosting, identity fraud, post, compare ideas, users,
contribute, access
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1. You need a................ service so that your website could be
accessible by other people.
2. The crime of using someone’s else personal data is

called.............. .
3.ldon’t allow others to.............. on my Facebook page.
4. The website is very easy for ................. to interact with each
other.
5. Students can .......... to the website, so for example they can
post work, photos and messages.
6. Many bank customers now............. their accounts using the
internet?

1 - hosting web 2- identity fraud 3- post
4-users 5- contribute 6-access

Gl (ypoill 12 12 ple
1. You are advised not to give out personal information on the
Internet.

2. Fill in the application form and sent it on our email address.
3. lf you want to protect your system, turn on your computer’s
firewall.

4. A good manager should know everything about the
organisation.

5. You need to download a messenger to connect with your
relatives and friends.
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QIKI cupalll
viable alien conventional
sceptical complementary
1. Acupuncture and herbal treatment are parts of
—————————————————— medicine.
2. Solar power is one of the -------------- solutions to reduce
pollution.
3. Some scientists are-------------- of the claims of Darwin’s
theory of evolution.

4. When | first visited Paris, | felt it SO--------------- to me.
5. Itis ----------- in Jordan to serve Mansaf in wedding parties
and other social occasions.

1. complementary:4. alien 2.viable 5. conventional: 3.
sceptical

JUD IS G pnill
media, exchange, blog, calculation, floppy
1. You should design and create your ........ carefully so that you
can attract more readers and visitors.
2. Although social........... has brought millions of people together,
people are getting more and more feeling of isolation.
3. Until the invention of the ........... disk, it had not been possible
to transfer data between computers.
4. Communication for personal and business purposes has
become easy through email ................
1. blog 2. media 3. floppy 4. exchange

35



oM alud! Gupoii

calculation, settings, blog, whiteboard, access
1. You should post interesting topics so that people will come
again and again to visit Yyour-----------====ccceeeu- . 2. My bank
has installed a new system that made it easier to----------- the

money in my bank account.
3. Vou can control what information you want others to see via
adjusting your security ---------==—=—cccceuuu--- .
4. The computer can do millions of --------==-==c-—ccee- s each
second
1. blog: 2.access 3. settings:(security settings ) 4. calculation

suludl (poil

Choose the suitable item from those given in the box to
complete each of the following sentences and write it down in
vour ANSWER BOOKLET

gallery, talent, apparatus, red-handed , biological
waste
1.Nawa showed a ---------------- for music and playing the
piano at an early age.
2. Some-------------==== is contaminated and dangerous for

human’s health.

3. A good Gym should have special exercise---------------- .
4. You can see many of the most famous paintings in an
art............ in Paris
1. talent2. biological waste 3.apparatus 4. gallery

36



suludl (p0il

Choose the suitable item from those given in the box to
complete each of the following sentences and write it down in
vour ANSWER BOOKLET.
waterproof, out of the blue , strenuous, dental , attending
| care, such as teeth whitening, is not generally
covered.

2. My father has decided.,.................... , to travel to Saudi Arabia to
look for a job.
3.1t rains a lot in that area, so you’d better take a.................. coat.
4.l am thinking of .................... a course on computer science to
improve my skills.

1. Dental2.out of the blue3. waterproof 4. attending
oLl gy poill
Complete the following sentences by using the most suitable
word from the box. There is one more word that you don’t need.
share, create, contribute, solar, floppy
1. Communicating through the Internet has helped many

peopleto ________ ideas. 2. When was the last time that you
useda ___________ disk to store some data? 3. our school
decided to_________ a school website. | think it is a great idea.
4. Because of the high costs of oil and gas, a lot of people will
turnto ________ energy.

arsagoill Gl l
1. share: 2. floppy 3. create: 4. solar:)
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Jloc AUSGT yuwjai plai Sgdl
0789077686
s ol 9r . i
-ent/ant:/-able/ible:|-ful:-ous:-ive:-ic:-al:-less:-
ary:-ory:-an:-ect:-ed:in/-ing
Jlodill a9 iyl Ganll pasiwi| 89( be to ( GigiuSil Jlodl 29)

appear, look , seem,( :aulill
feel, become, get, sound ,
grow, find

is, am, are, was, were, be, ( :
been, being

}: Jio ly g aaiioll dljjopll 29
extremely , completely ,
scientifically

aJlil dljjooll 20) aanll 9 aj
be: {JLQ_GIQJI LA Ay Jl b iy
quite , very, too, so

gl bpiy slowl Jud dandl g di
pwl ¢l 94y

Ji Shall <5 gl Lyl aandl

JiD a_ULa.oJl ulgol
than As :
As

More | less
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can, could , } :Jio( modals
shall, should may , might,

will , would, must, used to,

have to, has to, had to, be

{ going to, ought to

dyjaonll to 29y Lyl Jodll 9d)

wagall 29 ¢llas Joall 8_01
usually , } :Jio dyjlfsi
sometimes , often, normally ,
always

Jeldll 2oy Lyl Jodll 94,
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How to communicate effectively

- listen carefully to others.
- build on others ideas.
- pay attention to nonverbal case.
- think before responding.

to communicate effectively you should listen carefully,build on

others ideas and pay attention to nonverbal case.
Also, you should think before responding.

2

Why do people leave abroad

- complete education.
- find a better life.
- get jobs.
- See places.

41

people leave abroad to complete education,finding a better

life and getting jobs.
Also,people leave abroad to see places .




3
compulsory education in

Jordan 6-15
England 5-15
Turkey 6-18
Japan 5-18

* glgioll + gl annJI is + Jgul pGyl, butitis + + _ilill payll
in+ . aull dgadl

However , itis + QLI pdyl + in  G@ULI dlgall + and + Qi payll
a9yl algali

WS Liild el (6 Jgasil e dijldo juiles GUS elio wlb 13l
Liila (Sjusl ploF Laua dlga - Jdl lc @losg dlga fgsl Ic alos
adynll aaf Quii:

* 0ac uSill @lgall + has + the most + . hda glgioll ¢gHgo
While, aac Jdill dlgall + has + the least + . glgioll ¢ grHgo

4
People in the future

-live in smart houses.
- treated by robot doctors.
-study at smart houses.
-do online jobs.

* glgioll + will be + (verb+ing......) and will be (v3......... ).
Jlgioll also will be + (verb+ing.......) and ( verb+ing.......)
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Name Edison

Date of birth and death 1847 - 1931
Profession American inventor
Achievement The electric light

pwdl, who was born in + Gadgll 7y)li + and died in + &)l
dlagll, was a lan + . difoll
One of his achievements was +  jl=illl.
6

Ali Ibn Nafi (Ziryab)

-be a talented musician.
-establish the first music school.
-teach musical harmony.
-introduce the oud to the world

* pwil + verb 2 ... ,verb 2 ............... and verb 2 ................... :
Also, he [she + verb 2. .................... )

Wind energy Solar energy

-Use wind turbines. -Work only when there is

-Work only when there is wind.

wind. -not experience after
installation.

* Jgdl glgioll + ( base +s/es) or (base) ...... and + ( base +s/es)
or (base)...... .
On the other hand, + (Ll Jlgioll ( base +s/es) or (base).......
and + ( base +s/es) or (base).......



Function
Showing reason
1- because | since [ as | because of | due to
result showing
1- therefore | so | as a result | consequently | because of that -
We couldn’t go to the stadium because there weren’t any
tickets left.
What is the function of the underlined word in the sentence
above?
Answer: showing reason
- She worked hard; consequently , she did very well in her
exams.
What is the function of the underlined word in the sentence
above?
Answer: showing result
giving advice
1- Have you thought about ...?
2- You should ..., no doubt about it.
3-1f l were ..... l would ...
4- My main recommendation is that you ...
comparison
1- However 2- whereas 3- although
consequence
1- As a result of
Study the following sentence and answer the question that
follows
1- Ahmed: I’m going to stay with a host family could you tell
me what | should do?
Rakan: If | were you, | would learn a little about their tradition
first.
What is the function of Rakan’s statement?
Answer: giving advice
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2- Whereas English speakers might say, ‘John broke the vase’,
Spanish or Japanese speakers would use a passive form.
What is the function of using whereas in the above sentence.
Answer: comparison
3- As a result of these studies, they have come up with some
interesting results. What is the function of using as a result of
in the above sentence. Answer: consequence
4- However, an email is quicker and cheaper than a letter
What is the function of using however in the above sentence?
Answer: comparison

VOCABULARY ( ENGLISH — ENGLISH )

setback a problem that glasi
delays or stops
progress

raise a question to Jluy
bring up a
problem

optimistic believing that JILai
good things will
happen in the
future

outpatient someone who udo uc Ao
goes to a hospital

for treatment but
does not stay for

the night

expansion the act of making Qg
something bigger

radiotherapy the use of Lol cic
controlled )

amounts of
radiation to treat
disease

45



children and their
illnesses

cancerous something that AL
has or can cause '
cancer

ward a roomina CLs
hospital

paediatric the area of vy (gloin
medicine that Jlab i
deals with
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